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egz81−1a

Wellenlänge λ /nm Kontrast C=25:1

R(λ) Normreflexion
Ostwald-Farbe: Rot R, λ1=570 , λ2=700 , λd=595
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Wellenlänge λ /nm Kontrast C=25:1

R(λ) Normreflexion
Ostwald-Farbe: Gelb Y, λ1=495 , λ2=700 , λd=570
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egz81−3a

Wellenlänge λ /nm Kontrast C=25:1

R(λ) Normreflexion
Ostwald-Farbe: Grün G, λ1=470 , λ2=570 , λd=520
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egz81−4a

Wellenlänge λ /nm Kontrast C=25:1

R(λ) Normreflexion
Ostwald-Farbe: Cyan C, λ1=400 , λ2=570 , λd=495
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egz81−5a

Wellenlänge λ /nm Kontrast C=25:1

R(λ) Normreflexion
Ostwald-Farbe: Blau B, λ1=400 , λ2=495 , λd=470
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egz81−6a

Wellenlänge λ /nm Kontrast C=25:1

R(λ) Normreflexion
Ostwald-Farbe: Magenta M, λ1=570 , λ2=470 , λd=520c
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ohne N-Reflexion
Normreflexion
0,036<=R(λ)<=0,900

T*TUB=40log[Rr(λ)]/log5

egz81−7a eet60−4n

Name & Spektralbereich
Rm 570_770 Ym 520_770
Gm 470_570 Cm 380_570
Bm 380_520 Mm 570_470

6 Optimalfarben (o), YW,10=90, YN,10=3,6
6 von maximalem (m) CAB für D50
in Buntwertdiagram  (A2, B2)

Parame-
ter:  Y

D50, Cr  = 25:1
∆hAB,2 = 6

max: 490_770
min: 380_490

XYZW=86.78 , 90.0 , 74.24 
A2 = 2,5 Cc (a2 − a2,n) Y
B2 = 2,5 Cc Bc (b2 − b2,n) Y
a2 = a20 [(x−xc)/y]
b2 = b20 [z/y]
a20 = 1, b20 = −0,4
xc = 0,110, Bc = 1,000
n = D50, xyW=0.345 , 0.358 
CAB,2=[A2

2+B2
2]1/2     −50     100
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